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Writing Inequalities from a Number Line

Name:

Write an inequality to expressthe number line. Answers
Ex) -210 -200 -190 -180 -170 -160 -150 -140 -130 -120 -110 -100 -90
< | | | | O : : : : : : = . X >-160
X
1) 0 10 20 30 40 50 60 70 80 90 100 110 120 1
- : : : : O | | | | | | >
X
2,
2 -120 -110 -100 -0 -80 -70 -60 -50 -40 -30 -20 -10 O
- ! ! : : o | | | | | | >
X 3.
3y 50 -40 -30 -20 -10 0 10 20 30 40 50 60 4.
< : : : : O | | | | |
X
5.
4) -160 -150 -140 -130 -120 -110 -100 -90 -80 -70 -60 -50
« | | | | | @ ! - - - -
X 6.
5 -125 -120 -115 -110 -105 -100 -95 -90 -85 -80 -75 -70 -65 -60 .
-« | | | | I ® ! ! : : : : = '
X
8.
6) 60 55 -50 45 -40 -3 -30 -25 -20 -15 -10 -5
<= ! ! ! ! ! o I | | |
X 9.
7) 3 4 5 6 7 8 9 10 11 12 13
- ! ! ! : O | | | | 10.
X
§ 90 95 100 105 110 115 120 125 130 135 140 145 150 .
<I I I I I I T T T T |>
X 12
9) 3 4 5 6 7 8 9 10 11 12 13 14 15 16
« | | | | | H— @t - - - - - 13.
X
10) -5 -4 -3 -2 -1 0 1 2 3 4 5
<<= : : : : O I | | | | >
X
1) 50 45 -40 -3 -30 -25 -20 -15 -10 -5 0 5 10
« | | | | O ! ! ! ! ! ! >
X
12) -25 -20 -15 -10 -5 0 5 10 15 20 25 30 35 40
« | | | | | | O : : : : : -
X
13) -2 -1 0 1 2 3 4 5 6 7 8 9 10 11
« | | | | | | @ ! - - - - -
X
1-10 | 92|85 77|69]62[54| 46|38 |31 23]
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ﬂh Writing Inequalities from a Number Line Name:. Answer Key

Write an inequality to expressthe number line. Answers
Ex) -210 -200 -190 -180 -170 -160 -150 -140 -130 -120 -110 -100 -90
< : : : —O— ! ! ! ! ! - e X >-160
X
) 0 10 20 30 40 50 60 70 8 90 100 110 120 1. _ X<50
-« : : : —_—0— : : : | ! —
X
2 X <-70
2) -120 -110 -100 -90 -80 -70 -60 -50 -40 -30 -20 -10 O
-« : : : —— : : | | | > 3 X <0
X .
3 50 -4 30 -20 -10 0 10 20 30 40 50 60 4 X =-100
<| 1 1 1 1 T T T T T T
X \J
5, X =>-95
4) -160 -150 -140 -130 -120 -110 -100 -90 -80 -70 -60 -50
<l | ! ! | | @ ! ! ! ! —
X 6. X <-30
5) -125 -120 -115 -110 -105 -100 -95 -90 -85 -80 -75 -70 -65 -60 . X <8
< ! | | I —— : : : : : — '
X
s X=2125
6) -60 -55 50 -45 -40 -35 -30 -25 -20 -15 -10 -5
T : : : : : ® : : : : :
X 0. X =10
NS S L S SN0 S B SN N G PY'SY
X
1. X >-25
8 90 95 100 105 110 115 120 125 130 135 140 145 150
<! | | | | | - e— : : : -
X 1. X>10
Dot v v T v Y e Y RPN s x=5
X
% -5 4 -3 -2 -1 0 1 2 3 4 5 6
-« : : : : O I | | : | >
X

11) 50 -45 -40 -3 -30 -25 -20 -15 -10 -5 0 5 10
< I I I I O ! ! ! ! ! ! >

12) -25 -2|O -1|5 -1IO 5 0 5 %9 15 20 25 3|0 35 4|0
T \J

13) 2 -1 0 1 2 3 4 5 6 7 ? 9 10 11
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